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Pt.0.0+4 0.0 1.26 0.78 0.19

Pt.10.0 6.0 1.27 1.27 1.59 0.78 0.78 4.68 0.19 0.19 1.14

Pt.20.0 10.0 1.79 1.53 15.30 1.22 1.00 10.00 0.19 0.19 1.90

Pt.30.0 10.0 3.91 2.85 28.50 3.03 2.13 21.25 0.19 0.19 1.90

Pt.40.0 10.0 2.16 3.04 30.35 1.50 2.27 22.65 0.19 0.19 1.90
81.74 58.58 6.84
82.00 59.00 7.00
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AXREES 0.2 % 5% * 3m 3 m 3 m
AKXEES 0.2 * 6E% * 3m 3.6 m 36| m |ALK EFE20cm
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1.15%2m*5 11.5] m2 115 [ m2
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EEELE 1.6%2m*4 12.8] m2 128 | m2
1.75%2m*3 10.5] m2 105 [ m2
1.9%2m*1 3.8 m2 3.8 m2
HEEESE 52.2| m2 52.0 | m2
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H=1.25 m 40| m
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